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Chapter 8

Interrogatives

Two types of questions are treated in the following sections: question word
questions and yes/no-questions. Question word questions are characterized by a
question word and, optionally, the general question marker =nd (see section 5.5 for
more information on this clitic). Questions of state have a different structure: they
are characterized by a question marker —xe&, which is suffixed to the questioned
element. The general question marker is obligatory in these questions. Yes/no-
questions may be marked morphologically, by the yes/no-question marker =ne (see
also section 5.4), or prosodically. The general question marker =né can also occur in
this type of question.

8.1. Question word questions

Question word questions are characterized by the presence of a question word. The
following question words are treated in terms:

- hé6 ‘who?’

- ho6tso, hébe ‘what?’

- hé6tso—meé, hdsy, héy ‘why?’

- héky, hd- ‘where?”’

- hé&?4su ‘when, what time?”

- hiki ‘how?’

- ha— ‘which?’

- hang- ‘how many?'

- the question marker —x& for questions of state.

Question word questions may be accompanied by the general question marker =n4,
a clitic which can be attached to the questioned element, the question word, or at the
end of the clause. Note that the clitic is attached after the subject modality clitic and
that it is not necessarily part of the clitic complex. For more information see sections
5.5and 5.7.

mité-n=nd  héiky
gourd-DEF-Q where?
Where is the gourd?

hakw=1=n4d  ‘?iyé-wa
where?=2SG=Q SV.stay:SG-PL2
Where do you live?
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m4to-n hakl  p|[eé-ké—4—po-nd
gourd-DEF  where? enter-COM-30-2SG:NR=Q

The gourd, where will you enter with it?

hé ‘who?’ is used to question humans and to ask for someone’s name.

hasdw=nid hé
DEM2.m=Q  who?
Who is that one?

hapd  ‘[wa  hé
you Poss.name who?

What is your name?

When the question word refers to multiple human beings, the plural suffix —ké is
added.”

hadso-nd  hé-ké
DEM2.PL-Q who?-PL

Who are those?

In order to question about a group of persons the collective suffix —x" is used. Note
that it co-occurs with the plural suffix —kd.

warongeé  ho-ké—x=a y|da-jwa—4
God who?-PL-COLL=3 create-PL1-30

The group consisting of whom did God create?

hé occurs both as subject and non-subject argument. As a subject argument, hé hosts
the subject focus marker —aa.

h6-44  n|omés6-n—s0  p|wéé-2ip
who?-SFOC people:PL-DEF-PL create-3PL
Who has created Mankind? (lit. the people)

When hé questions the object argument, it can serve as the host for the
subject/modality clitic.

warongeé hé=a 1 |1’1?’1yé.—2'1
God who?=3 create-30
Whom did God create?

" This suffix further occurs only as a plural marker in 7||akdsd ‘certain people’ and 1||6ké
‘children’ (see section 3.3).
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Questions about non-human objects are marked by hétso or hébe, which are used
interchangeably. hétso / hébe is used independently, or as modifier which precedes
the noun.

heéw=na  hoétso or: heéw=na hébe
DEMl.m=Q  what? DEM1.m=Q what?
What is this? What is this?

When the question word modifies a noun, the question concerns the kind of, or type
of that particular object, e.g.:

hétsd  nan=a?a thimé—x—*p6
what?  side dish=3PL  cook-BEN-2SG
What kind of side dish did they cook for you?

Three question words are used to ask for a reason: h6tsd—meé, hosy, and hépy. All
are translated by ‘why?’, the semantic nuances between the three were not
investigated. Our impression is that hétso—meé is a neutral way of asking for a
reason, while hosi and hén have a negative connotation.

hétso—meé consists of the question word hétsd ‘what?” and the postposition —me&é
‘sake’ (cf. hewé-meé ‘therefore’). h6be—meé may be used as an alternative, but is
rare.

2t Thétsdo-meé=1  [i—*p6 *
yesterday ~what?-sake=2SG come:SG-NEG:2SG
Why didn’t you come yesterday?

?afa  hos)
Afa  why?
Why, Afa?

héng=1  bikhé—é
why?=2SG leave-30
Why did you leave it (stop doing)?

hékis and ha— ‘where?” are locative question words. haki is an independent question

word. It may be extended with the directional postposition —na: hakl—na ‘where
to?”.%

% Question words may be realized at a pitch level which is higher than the pitch level of the

adjacent constituents. This is marked by *. For more information see 2.4.4.
8l ki is probably a frozen postposition. It has one other occurrence, where it is in
complementary distribution with the directional postposition —na: ts’adky ‘at home’ vs.

N\ 2 N 2

ts’a4—na ‘(to the) home’. ts’ad cannot occur in isolation.
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plip—xé-n=nad haky
meat-COLL-DEF=Q where?
Where is the meat?

hakw=3a?3 neé
where?=3PL  stay:PL
Where are they?

hakti—ni=1 hik™
where?-DIR=2SG ~ g0:SG
Where do you go?

ha— cannot be used independently, it requires an extension with at least a directional
postposition: hd—na ‘where to’. Another extension is formed by a combination of
postpositions: hd—?4—te—na ‘where to? (vague location)’. See also section 3.6.3 on
postpositions.

ha—nmi=1 hik™

where?-DIR=2SG ~ g0:SG

Where do you go?

hadso manad—si—so ha—?4—te-—n=0 ni?
DEM2.PL  know-BE-3PL where?-LOC-area-DIR=1PL go:PL

Those have knowledge about where we go.

ha?4st is used in questions of time. As times of the day are expressed by reference
to the position of the sun (||’akasi (f.)), the question word is analyzed as consisting
of the question word ha— ‘when?’, a locative postposition, and a gender marker —sit
3fsG’.

ha-24-si [i-po
where?-LOC-3fSG  come:SG-2SG:NR
When/what time will you come?

|’akdsw-aa ?iyé-n  ti—si -1
sun-SFOC stay:SG-VL come_Out-REL  come:SG-1SG:NR
I will come when the sun is rising.

z

The sentences below illustrate the use of hiki ‘how?’:

hiki !’amé=sun-na
how? shape.IT=1PL:NR-Q
How shall we construct (them)?
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hiki manad=so—na
how? know=3PL:NR-Q

How will they know?
hapi=si7i=nd  hiki=1 |ag
YOu=TOP2=Q how?=2SG  see

And you, how do you see (the case)?

ha— ‘which one(s)?” has four forms that depend on gender and number of the
questioned element. The forms consist of the interrogative element ha, a marker that
codes gender or number, and the definiteness marker. The 3fSG and 3PL definiteness
markers contain an additional gender/number marker.

hawéy ‘which one?’ (m.) ha-wé—n
hastinsi  ‘which one?” (f)) ha-si- nsi
hasdénsd  ‘which ones?’ (human plural) ha—s6—"nso
haxén ‘which ones?’ (collective or non-human plural)  ha-xé—qg

The forms can be used as independent forms, or as dependent elements that modify
a noun. They correpsond in this respect to other modifying elements that can be used
independently with a definiteness marker. Compare the following examples:

haweén or: hawey kitabu
which_one?.m which_one?.m  book
Which one? Which book?

biitt 1 or: bitt"i-y kitabu

red-DEF red-DEF  book

The red one The red one of the books

Questions concerning the quantity of humans and non-humans (animates and things)
are marked by haneé—so (PL) and hdn&—x}] (COLL) respectively. The dependent forms
follow the noun they qualify.

p|om6sd  hand—so

person.PL how_many?-pL

How many people?

rogé  hane-x=1 p!wané
knife how_many?-COLL=2SG ask for
How many knifes do you want?

himbu  héne—x] 16-26wa—4-—po
cow how_many?-COLL  accompany-PL1-30-2SG:NR

How many cows will you bring?
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Questions of state are characterized by the question marker —x&. The occurrence of
these questions is restricted to greetings. They inquire about the current state or
condition of the questioned element: a particular time, place, or object. The question
marker —xe is obligatorily followed by the general question marker =na.

t¥ik1-xe=na
morning-QS=Q
How is the morning?

kiménte—xe=na
afternoon-Qs=Q
How is the afternoon?/Good afternoon

dodéma—xe=na
Dodoma-Qs=Q
How about Dodoma?

ya?abo—xe=na
work-Qs=Q
How is work?

The standard reply to these questions is phitd’ima ga?a ‘There is peace.’

8.2. Yes/no-questions

Most yes/no-questions are characterized by the question marker =ng& (section 5.4).
The clitic belongs to the group of mediative clitics, which are part of the clitic
complex (see section 5.7). After the clitic, a subject/modality marker can occur
and/or the general question marker =nA.

|i=né=?é°
come:SG=Y/NQ=1SG:OPT
Should I come?

phityima=n¢[=na]
peace=Y/NQ[=Q]
Is there peace?

Alternatively, a yes/no-question is marked by prosodic means only. Examples of this
type are frequently-used utterances in greetings. The typical pitch pattern of the
prosodically-marked question is an utterance-final extra high-low contour,
regardless of the original final tone of the utterance. The onset of the contour is
realized on a higher pitch than any preceding high tone. After the onset, the pitch
drops to the normal low pitch. This contour is marked as an upstepped falling tone.
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{aa-"po
g00d-2sG
Are you fine?

In the following examples the same pitch pattern is used in the morphologically-
marked yes/no-question too:

phit’d'ma
peace
There is peace (isn’t there)?

phitd’d'mé=ne
peace=Y/NQ
There is peace (isn’t there)?

Yes/no-questions ask for a reply from the listener to the speaker’s proposition. The

response may be just P8¢ ‘yes’ or ?a?4 ‘no’, or a more elaborate positive or
negative answer.

-y ka?4 héti1 p||eé—ki—d=ne=2
CNJ-CL  that  there enter-COM-30=Y/NQ=2PL
And he asked: “Did you bring him in there?”.

si Ki=s1 k4?4  ||06xX1 1|jeé—ka—a=‘tshiiy
CNJ2.1SG TOP=1SG that  yet enter-COM-30=NEG1.1pPL

And I said “We didn’t bring him in yet”.

Positive replies may be accompanied by the confirmative clitic =g4. Note that
yes/no-questions that are used in greetings can also be described as rhetorical
questions, as a standard, positive answer is expected.

phitd’ ima=ne Peee, phitt’dma=gara
peace=Y/NQ yes  peace=CONF1

Is there peace? Yes, there is peace (indeed)
{4a—"pd {a3-s1=ga?a

good-2SG go0d-18G=CONF1

You are fine, aren’t you? I’'m fine.
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